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: EXAMINATION, MAY/JUNE 2018 P
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Time Allowed : 3 Hours Maximum Marks : 100

INSTRUCTIONS TO CANDIDATES

1. Immedatsly afier the commencement of the Examination, you should check that this
Booki=t does not have any unprinted or torn or missing pages or items, etc. If any
of e 2bowe o=facts is found, get it replaced by a Complete Question Booklet of the
2vaiche seres.

2. W= oeary Te Quesson Bookdet Version Code AL B, C, D or E, in the appropriate
Space prowced or Te pumose. n e OMR Answer Sheet.

3 Enter the name of e Subject. Beg. No., Question Booklet version code and affix
Signature on e OMR sheet As the answer sheets are designed to suit the Optical
Mark Reader (OM R ) system, special care should be taken to fill those items
accurately.

£ This Question Booklet contains 100 questions carrying equal marks. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. Al the answers should be marked only on the OMR sheet provided and only with a
black or biue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

8. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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1 The running water habitat is called

a) Lolic b) Lentic c) Biome d) Littoral

e 260 emeg R0 BI

a) Saax b) Sotds® c) wodress d) Oupeder
2 The c=composing method for biomedical wastes is

a roreratng : b) Vermicomposting

<) Lamd filing d) Mulching

ﬁww 2RSC300E B3 EOTOOT AT

b) adm rirawd

c) q-'ao_gf d) 9or
3 The mier inlang of food chain in an ecosystem is

2) Food worid b) Food web c) Food rope d) Food court

w Solsrar Tieolts ST SoTINER) 233038 ?

§ﬁd b) sS=C=0 c) tsasad&% d) =30 3089

4_ Eco mark of one country is

a) Plant b) Animal

c) Globe d) Earthen pitcher

2,000 63T TORT 8B, |

a) AR - b) &3

c) gerteed d) SoE8/3eR
5. An inexhaustible renewable resource

a) Hydrogen b) Coal

c) Petroleum d) Natural gas

IRPTE PSR BE VOGS

a) RewTs b) 39T

c) Sednedado ; d) agsziﬁrf (SIS}
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6. The corhponents of disaster management

a) Preparedness
c) Prevention

e, %) BB BeSib IR ? |
b) BEReES K BT

b) Response and recovery
d) All of these

a) ﬂajgpé
c) 33 d) 0P
7. Fixation of atmospheric nitrogen by
a) Bacteria ' b) Biopesticide
c) Biofuel ’ d) Both a) and C)
B4 2INT CIRRTO S E30RNBOBITRE ATRTTRS, %oeaém%wegqcﬁa 2

b) H° 30T

a) mﬁj@@o@
d) a) SR C) SCBER

c) FB QOGS

8. Water is heaviest at which temperature ?

a) 0 degree C b) 5 degree C c) 4 degree C d) 20 degree
o= ma@p@afcﬁq 260 TOT3ZIN2 ézsawﬁdagzﬁ 9
a) 0°C b) 5°C c) 4°C d) 20°C
9. Vermicomposting is a method of
a) Producing worms b) Management of fabric waste
c) Destroying WOrms d) Producing compost manure
SBRRWT 3c3ROFI0 DGPS.
a) @d%’ﬁb VBT b) FWE 23 VTF DD
c) aSBRb WIT d) Q3RS VBTN
10. Energy stored within earth is
a) Magma b) Geothermal
~ ¢) Tidal d) Ocean thermal
24 PN 03705 SOID 23000309, SBNTIRTO ?
a) SR b) RO3RETRHF &
c) © d) =end T
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12.

13.

14

15

The organic matter of the soil is called
a) Mould b) Humus - ¢) Nitrate d) Phosphate
Se3ROT D8 BRSO ord B80dNTT 7 4
a) :?@J‘ b) BRTR c) Jedee d) soRees
The intensity of earthquake is measured on
a) Barometer b) Richter scale c) Altometer d) Ohm meter
2RB0BE SemBO30R), Q0T £9P00TNZT.
a) TR’ b) 83p° Ree® C) SSREEET" d) 2.0 Qoes3T*
Acid rain is caused due to
a) Carbonates b) Hydrogen c) SO, and NO, d) O,
&) =% DOTI ST
a) el b) wexsTE c) SO, a3 N0, d) O,
Carbon cycle involves

a) Ammonia, nitrate and protein b) SO,, Sulphate and Proteins
¢) Carbon dioxide, water and energy d) Nitrogen, Nitrates and Energy

BERST 3OO, BORRBIY T

a) SR, Fiets B Fp,cLded b) SO,, "cfew 0B TP, ee3eT”
sors Get, R RE) B d) Jene, T, 0% R

The group of organism which convert light energy into carbohydrates are

a) Omnivores b) Decomposers  c¢) Heterotrophs d) Autotrophs

S CIRsS oS 2o tIBES 938033& DWBRFD, @ewﬁ%ﬁ SRTF BRI 7

al :.:..::T;; 4 b) @éo@e"c‘ c) éwdxaeéigew d) esedpesin, R,

16. Easophucation means

a) Increase in aquatic life b) Decrease in aquatic life

c) Increase in nutrients d) Change in weather
cdosigegdesia” Do

a) moseariy =% b) ex3ensy 8RR

¢) Speaiosiie Bedoiniiod B¢ d) BRS FHOLI,
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17. Cause of ozone hole

6.

a) Reduction in water
c¢) Skin cancer
LERes* Sogig 50080
a) e0R w083 go&é

C) WoF ngp?

Water Act was enacted in the year

b) Reduction in CO,
d) Increase in temperature

b) ®wrs® Bewd 'S oo

[3)
d) evggomd %ag’?

d) 1954

a) 1984 b) 1974 c) 1964

QeOT FWTIOZ0 BRZE 2000 TR

a) 1984 b) 1974 c) 1964 d) 1954
19. World environment day is celebrated on

a) July 6 b) April 22

c) June 5 d) September 11

03, TORT DB BT L3RS

a) w60 b) Q&yer 22 Jord

C) WRJ* 5 Sord d) "Bo2)o” 11 Sowd
20. Food chain represents

a) Food pyramid b) Food web

¢) Food wheel d) None of these

a) =33 STREY b) s==d e

C) &0 38 d) cegjce eg
21. Green plants which obtain food from other plants are called

a) Hosts b) Parasites

c) Saprophytes d) Insectivores

00 N e A o0rs ety ednoms HEGE wivR: Sdatomih

a) BRI 3

C) AR eFETNR

b) moFETed
d) a3EZeoaTred
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22 The total number of National Parks present in Karnataka are

23.

24,

26.

a) 3 b) 4 c) 6 d) 5
STOFEITEOTRS 283 T, 8030 VT TSSMD
a) 3 b) 4 c) 6 d 5
The organisms which live on dead and decaying matter are
a) Producers b) Consumers c) Decomposers  d) Herbivores
A SR BePesom wmqﬁrrf%?d% 0T WIBT &%e@r{e}md BTOB0Y) T
a) VBTN b) zjﬂﬁn’% C) BRBIIND d) ;?;g . jﬁ%b
Logo WWF is
a) Red Panda ‘ b) Giant panda
c) Polar bear d) Brown bear
WWF = oogs
a) 3o} = b) 2333 @0
c) =% d) sozosoR
. Every year April 22 is observed as
a) UN day b) Earth day c) Moon day d) Sun day
T IR AQY* 22&3{ CIRRTC BROSE)_ S52308RMITO ?
a) oo oI b) R0 &I C) BRI O d) Becdrs oF
Recycling is best option to deal with
a) Pesticides b) Herbicides
c) Paper and Glass d) All of these
= éﬁ#ﬂd@r{%@j SR cﬁsgl SUZEETON OTUTE R EBWBITD 9
a) $cLIT b) AR FoTE
C) TN =) Mozd d) Somp
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27.

28.

29.

30.

31.

— 667 8- [NV EE
Cloud seeding is a practice used to induce
a) Precipitation b) Thermal invasion
c) Evaporation : d) Transpiration
ReE WIBC3 CIRJTHN T3eeNRDT ?
a) =% b) Foor e AT RS
C) SOTRNONB d) é@afg?odeﬁa‘
Carbon dioxide from soil mainly comes from
a) Microbial respiration b) Root respiration
c¢) Soil animal respiration d) All of these
FoHV0T Beos BERGES PLFT Bt B B0DTON IR 00T 133 ?
a) B ZeNY GORTVES b) 23e0x evrToEs
€) ROFSYTxRS 53,6373 LVRTHES d) Qo

‘Montreal Protocol’ was signed on September 16 of

a) 1985 b) 1990 c) 1987 d) 1981
B3 BN CIRT THFT AFo20* 163¢ DTOFTOT 0300 Lot E R 4
TOTERO20 ? ' ;

a) 1985 b) 1990 c) 1987 - d) 1981
Thickness of plastic cover permissible to the

a) 40 microns b) 20 microns c) 100 microns d) 10 microns
TRT WeoT B3 @‘tzjd Sas) euSadeenmeD easnd a8 ? _

a) 40 BT, b) 20 SV c) 100 BT’ d) 10 By,
The red data book is published by

a) WWF b) FAO

c¢) IUCN d) WHO

3 o 2T T

a) dwwg.dmw.aw. b) aF'. . b

C) . O3V, R. I d) @ey. 5. b
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32. The ecological pyramid which is always straight is

a) Pyramid of Biomass : b) Pyramid of number

c) Pyramid of energy d) Both a) and b)

C3RTRNOR JeTZONTIEI 2%@% QT

a) 23008 TR, b) Ross, FTRE),

C) 3 QTR d) a) SR b) “TBE®
33. Kyoto protocol is focused on

a) Wet land conservation b) Strata conservation

c) Lakes conservation d) Climate change

a;%m PR NS BORR)TO

a) 30 BRI FOTEF _ b) 0030 ROOBLT ROTTES

c) 39nd RoTER d) 0TV WBLRRTS
34. Chipko movement was started in

a) India b) Pakistan c) SriLanka d) Bangladesh

a) o= b) =W c) deoo® d) o
35 Mangrove vegetation occurs in

a) Coastal region b) Hills c) Deserts d) Tundra

25 39T 0w @’d@éﬁd@mmﬁoﬁga@ ;o'*";%oaé FOBRITIBLS 7

a) 3B 8¢T b) ﬁ%ﬁ@o C) DT d) 307
35. Renewable energy resources should be

a) Reduction in usage b) Increase in usage

¢) ‘Unlimited usage d) Encourage the utility

SDEBORDT SO x’oﬁaﬁ@@ﬁ@ 20$B030

a) QBNTL3ER b) m@{éﬁm{pﬂeﬁo

C) HRBDQDTLIER d) @e@\,&éﬁfa%ﬁeéo
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37.

38.

39.

40.

Sustainable energy is
a) Renewable
¢) Non renewable

DR TONTIR 21 JoveN
a) So‘besaﬁawoé&d%
c) é@eﬁ@#mn’cﬁ%

Oceanic pollution is due to
a) Oil discharge
c) Hazardous waste discharge

TONCT u@&im‘)afa@
a) 2 TORXF0T
C) ToVTTT @Sasémﬁag IN(Ovebnsatelen]

Tiger is

a) Endangered species
c) Expensive species
O30

a) m&bﬂg@’md T
C) S e Fyed

-10-

Name the extinct species is in India.

a) Kiwi

¢) Kola

PPTIT I ©0UTOTOT e
a) &

C) Zoeem

AR

b) Exhaustible
d) All the above

b) émdﬁmﬁg)doéwa’%
d) RO e

b) Cargo and ship washings
d) All the above

b) wrier o BERNE 3eBo30R8000z
d) oI 0ze

b) Extinct species
d) Rare species

b) DI 0w3SYTE JeFers
d) ©TCRDTS T

b) Lion tailed macaque
d) Kangaroo

b) 2oxmemon e
d) soondn
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41.

HIV is transmitted through

a) Inter course with infected person

b) Sharing infection needies with infected person
c) Infected blood transfusion

d) All the 2bove

oo Bstos Sbes
a) d.nu(uﬁ:gcbdsé & o8 ZoT3F
b) mmm«asd& PR T
c) mwdw

d) :hﬁ@

.'] . 42 A ang as== which is unused or not being used to its optimum potential is called
z W= and b) Dry land
= Degraded land ‘ d) Waste land
*:cywzu’o&mem’d 95550 eVTOIRENTCONE L3N
a = b) &0y ATOIAW
o axid g d) 3x303een PBeyn

® .

energy
~ 2) Clean energy ~ b) Non renewable energy
c) Combustible energy d) All the above
2R3 T TR
a) 35 3% b) SesORHNT B8
c) SR 53038 . S - d) BoedT P
. Phytoplanktons — Zoo planktons — Small fishes — Large fishes represents which
food chain
a) Land food chain b) Decay organisms
c) Aquatic food chain d) Dietary supplements

390 ACTPO0S, B dd"o:’m T, WO R, B —> R, TR, — TR sbaeabr{%?o
— B8 20eED ,

a) ¥n 300 R0T0 b) 3e¥ER

C) RO =TT IO d) ©SB08e0sd &5HT TTTP
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45.

46.

47.

An ecological pyramid represent

a) Constituents of ecosystem b) Energy recirculation
c) Trophic levels d) Biogeochemical cycling
atortel &d&x&% fadaiglmzszbg ! ‘
a) TORT 5@%@3&@? €903 b) ZE0I R3O ROWOS

- C) OOF TOOIT DR, d) 236 TR e SRO3RE 835,
State bird of Karnataka is
a) Golden back wood pecker b) Pied hornbill
c) Rose Ringed parakeet d) Wire tailed bee — eater
BOOF EITE TO% ﬁ‘i

- a) BB WP ROOBEIT . b) 2B%3eF T TN
C) TOERY) YVORITBT REN® d) &g OB 23es> 3388
The most lowest layer of the atmosphere is
a) lonosphere b) Mesosphere c) Stratosphere d) Troposphert
TOBORTEIT 53,08 citouate)

48.

49.

a) 030RRE03T b) QoRPERCIT c) m@éﬁmeaosoo@ d) &3ReE3PeR0d

Noise level is measured

a) Pascal b) Decibels c¢) Joules d) Amperes
eﬁzg)d wbms@a’aig;adaod 2830320598

a) TR b) @S c) W d) &,0030°
Bhopal Gas Tragedy occurred due to release of

a) Sulphur dioxide b) Methane

c) Mercury | d) Methyl isocyanate

BRE e QO B3000E QT3 VRINRE TTED

a) RYo® Bt & b) Qozes*

c) BBRFO d) g ORACTOISCES
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- b) Orissa
~ d) Rajasthan

b) wom,
d) mzsm@ﬁ

b) Soil + Wind
d) Plants + animals

b) ma% + %mnbsa
d) R + s, edried

b) Vital index
d) None of these

b) i aowe

- d) cInFTe ee)
1t leads to ; _ :
tion of Agricultural product b) Migration
riificatic d) All the above
b) ZToR

d) oIS e

SM - 667
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54. Dharogi is famous for conserving which wild animal ?

55.

56.

bi.

a) Snow leopard
c) Sloth bear

b) Civet cat
d) Hanumanth Langur

To0Re23 BTeSey AT e‘éﬁd% RoTE3 BeSewoNds.

a) & w803
C) I OB

Eco mark is the symbol
a) Ozone friendly product
c) Forest friendly product

QBRBIEF Q0 BB
a) WRe® ek eméﬁﬁeio
C) Tt Aedo em%ziﬁ%b

Energy flow in the environment

a) All direction b) Bidirectional
Caforsio] @Sd:g;ob@;f Jg030 WO
a) WBRDD b) &z

Algal bloom of

a) Increased density of algae in water

b) el ¢35y
d) BIR0B ©ONRT®

b) Eco friendly product
d) Economy friendly product

b) FORT Redo LUSINR
d) =oFT Rtk w%aimfo

c¢) Unidirectional  d) No direction

o) HE=ND d) o8y T35c08),

b) Presence of flowering plant in water body

c) Increase availability of nutrient in water

d) Decreation of water quality
SRS WART IVFYR

a) QeOFY BGRFNG BB

b) Q059 = VRS a’z);ﬁ@’ QBRIB

C) QeOIE FpeTF0BNE TR T3¢
d) QedR MOEsRRIE BT
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a) Green house gas emission
¢) Nuclear poliution 5

'syndrome is caused due to
y metal pollution
Nitra contamination
26D 33BN YVOERNICD TOTELD
 a) 0 SeeEnd SROFI
€) =TxTE O3

a) Lower

c) Middle

% 2522550 S M ChYD?
a) ¢

c) P

SM - 667

58. Fukushima and chemobyl disaster are example of

b) Sewage pollution
d) Organic pollution

RET° QRNON YUTOTOH

b) 2300oR RO
d) BB O3

b) Awareness to save environment
d) Give one chance to earth

b) a’om’dﬁﬁg{ VPR OITT ajzé’@
d) 2ERNIND 2WoT ST BT

b) Endosulphan contamination
d) Chromium contamination

b) oRRRR BROFE

-~ d) BReR0030 BRI

81 Producers occupy which position in the energy pyramid

b) Topmost
d) All of the above

b) evzs

d) e 2P

SPACE FOR ROUGH WORK
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62. Rain water harvesting will help in

a) Reducing air pollution b) Flood and water resources
c) Temperature d) Humidity

0% QL0 BROIN, [T, AT BRRIT. :

a) mojwaba@a% 33 b) Feom 0B Q60T FOTISRY
c) WES d) 3ez003

63. Tsunami is caused due to

a) Earthquake in ocean bed b) Volcano in ocean
c) Water pollution d) Change in weather
RO RPN BEOOTDNZTS -
2) IR BHROF RESTIOT b) AOTICRHR 239,0R0D
C) BORTROZ0T d) TR FFOE,
64. Excess use of contaminated ground water results ’ :
a) Silicosis b) Fluorosis c) Chlorosis d) Necrosis
| Benad £203RFOT 98 2PE030 B0
a) AOBRRT® b) FRBweers® c) 3ReBRBRT d) 3beerr
65. Green Revolution has led against
a) Pollution due to manure/fertilizer b) Insecticide/pesticide pollution
c) Reduced use of non hybrids d) All of the above
BT WRTLC30 [BT DT, IEER,
a) TOMODE ReL)0Ne Znd3 b) seexmIEne RROI3
c) QJBPrFTT 208 A d) BT QP
66. Depletion of oxygen in water causes:
a) Increase in aquatic animals b) Increase in aquatic plants
c) Death of aquatic animals d) Increase in nutrients
QeOI), SRWSEE éogsaéo‘de VO T
a) we3ons agpa b) wORRNS a%t%
C) RIS YY) d) w’aa%saosﬁmf é’dgj@%

SPACE FOR ROUGH WORK



-17-

=r into lakes results in

b) Increase in BOD
: 3 d) None of these

> b) BOD &3Rw>

R d) c3RRPTe e,

hane gas content in biogas is

. b) 05% c) 55%
T 0T FeBETT) 503

BrO5% .0 - c) 55%

he Arctic are called

- b) Tundra ¢) Savannah
OB 50T 0B0md 83030TT 2
: b) e3omg, C) R,

, due to the deficiency of
 Chiorine b) Bromine c) lodine'
3 8030200T GVOERMIBT.
- a) 3RO b) 8o  ¢) wadeeds

RPO0DLIT"

1. Atmospheric humidity is measured by

a) Auxano meter b) Photometer
c) Hygrometer d) None of these
DR 0BOT 3emo§daig{ C3RYTOOT LR0INIBES ?

a) SRR b) Fpeedpeoeeso
c) Friaeoeso’ ' d) oIRRRe e

SM - 667

d) 85%

d) 85%

d) All of these

d) asume

d) Fluorine

d) Zpeox®

SPACE FOR ROUGH WORK
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72. Coastal region of our country is suitable for harnessing

a) Wind energy b) Tidal energy
c) a) and b) d) None of these
33 BPNS ommm TeB03000 BELD 863 RTDIITNTIZTS 7
a) MY 33 b) 377 34
c) a) m@ b) d) oquﬁ)zﬁ.@ Q).
73. Photovoltaic cell works on energy obtained from
a) Geothermal source - b) Nuclear reactor
c) Electro magnetic radiation d) Chemical energy
FPeEIRTP AT ﬁmesﬁr{@’o 03Ra FFO3 2PRBROTD TDOBF R oROBH ?
a) BO3RETROF C* RREXT b) SR80 elewspl: og
C) S8R LR de@o&eﬁa‘ d) 2P aReE
74. Pollution indicator in aguatic ecosystem is
a) Fungi b) Typha ¢) Eichhornia d) Hydrilla
QRNGE) 3RO WODTORT aﬁ d"odx‘) dm‘)a? a’a'b TR ?
a) é@eog b) & c) fasabwa d) B,

75. The World Biodivérsity Day is celebrated on :
a) 5"June b) 29" December ¢) 22™ May d) 22" April

D3, 0T FAFI00 /DK Jordd> eR30RIGES.
a) 5%@ mae b) 293¢ @00t c) 22¢ 3¢ d) 223¢ Qy

76. Biogas is a mixture of
a) Methane and carbon dioxide
b) Oxygen and hydrogen
c) Methane and oxygen
d) Hydrogen sulphide and carbon dioxide

OB SROTOTID LAONEO
a) Ablalod aﬁaéa TWF S BT &
b) ©EwT doso asozsﬁ%
c) e 0B ejdazsa’%
d) BRI :)’t? @ m TWF S BT, =

SPACE FOR ROUGH WORK
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77. Loss of forest cover is termed as

78.

@

80.

a) Desertification
c) Afforestation

-19-

503, TBST eea3n DFomd 3603023 9

a) =T0ERR0B0

C) &Te3 8080

The fungi in a forest ecosystem constitute

a) Producer

c) Secondary consumers

2 TORT a’)asd%cdo@q dSeogned
a) BRI

€) ©,8¢00 IFFHd

The sphere that absorbs UV radiation is

a) Biosphere
c) Lithosphere

uv x%dsaﬁee’dgl &eOBRR Reed SR 2

a) wo&ac&aﬂoﬁ
c) @qim%i)wac“

Ground water contamination is
a) Irreversible
c) Exhaustible

L0BT RO FOOABRAOBS €353
a) e3VOTBFREOI
C) Scompeness

SM - 667

b) Deforestation
d) None of these

b) Tz
d) CRJITR e

b) Primary consumers
d) Decomposers

b) T Hgsch
d) SrvERnsd

b) Stratosphere
d) lonosphere

b) = géi@exgdwace

- d) et

b) Reversible
d) Non exhaustible

b) To=3Eeod
d) &eTe [T
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81. pH of acid rain

[T

a) <5.6 b) 5.8

c) >6.1 d) None of these

3333 oo (pH) 2.3 O, ACRET ?

a) <5.6 b) 5.8

c) >6.1 d) cIRRTBe ©Q,
82. Hydrosere is a type of succession that occurs in

a) Rock b) Soil c) Water d) Marshy ¢

a@zﬁgﬂd @sﬁaﬁmw@ O3RRTTE, @efé;%%meizgd 2

a) WoRMEL b) &0, C) B d) Broze
83. Sound becomes hazardous to human health at

a) Above 10 dB b) Above 50 dB

c) Above 90 dB d) None of these

DR deeng I8 3R TR AVCHOLLOY VEBI)T0 ?

a) 10 dB Ac3 ﬁz?ow b) 50 dB No3 éz:—%

c) 90 dB No3 ézi% C d) CSRRTR B,
84. Abiotic component of ecosystem is

a) Bacteria b) Plants c¢) Fungi d) Light

ZORT quro;oﬁaq @ﬁ;&vi ¢307Y ORTTO ?

a) 98¢008R b) AR c) dSeoned d) 30
85. Wind energy resources are

a) Conventional energy b) Non conventional energy

c) Both a) and b) d) None of these

BRTIB T30 QOGS DRD.

a) FOTTCIE BY b) OB B3

“¢) a) R b) VBB d) cIRRTR LY,
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86 Which is the most abundant fossil fuel in the world ?

a) Ethanol b) Methanol c¢) Gasohol
BTG BTN B33 FP30TE A0S
a) VPP b) B C) TRRRIZO

87. During photosynthesis trees produce
a) Carbon dioxide
c) Oxygen
A RoFees 8030000083 SITNL WEBINE TRBEIT O
a) BOMPYT Bt = b) moTx=s
C) BRWT

b) Nitrogen

88. Wood pulp is used for making

a) Furniture b) Plywood c) Paper
DOTR STHS, ATCY, WHRPNFT
a) 2¢Bem8nR b) & D= Cc) NG
89. Mangrove is found in
a) Coastal area b) Desert
c¢) Tundra d) Himalaya
20T F5,008 @9 QTR0
a) 000 B3 b) SRR
C) 3003, d) &=Recdd
90. Which of the following is a heavy metal ? _
a) Calcium b) Copper c) Sodium
B3 IINIYNSS, c3eeytd T SReH ?
a) w930 b) o= Cc) RReRS0

91. Increase in the concentration of soluble salts is called
a) Chlorination b) Pasteurisation c¢) Salinization

OO ©EaNe? €085 WYCBRRRY T DF0T0 3BT ?

a) 3ncodew b) @oggRes> ¢) OFe

d) Carbon monoxide

SM - 667

d) Coal

d) 39zen

d) Qomesd Beeed &

d) Chip board

d) 8¥° Beewts

d) Nitrate

d) Sedees

d) Reduction

d) deg
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92. Example for an e-waste

a) Plastic b) Paper c) Industrial effluent d) Mobile phor
fa—@szss% VR BRI ? :
a) TR b) N3 c) oo By d) BB TIPS
g3. Organic and domestic waste causes
a) Air pollution b) Noise pollution
c) Soil pollution d) Nuclear pollution
RE3 ToBY W 3@5%7#@053 QT LVOERNZT
a) 03BN, b) éz%aira@sﬁé
C) &Y SROT, d) T=PED BRI,
94. Primary consumers are also called
a) Carnivores b) Herbivores
c) Detrivores d) Omnivores
TR URBRNNTSY 305 3803533 ?
a) 0RO T ESTI0 bR} m’méaabmb
¢) DPUBRL d) RSFPgIn
95. Percent of Nitrogen present in atmosphere
a) 16% b) 24% c) 36% d) 71%
TIBRTTE o ORIBT BeBET B[RRI

a) 16% b) 24% c) 36% d) 71%

96. The largest brackish water lake in Asia is

a) Sambhar Lake b) Vembanad Lake

c) Woolar Lake : d) Chilka Lake

SWBOT W3BRT, 2GR VO T

a) AoPRT’ 80 b) SowTow* 33

c) FpeT® 8B d) 23w, R3ReRT
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97. Which of the following plant serves best as a source of alternate fuel ?
a) Coconut b) Jatropha c) Phoenix d) Mango
Q[T cIRT = T[PTY) wdwﬁ&d@odddﬁ%udm@m?
a) 3o b) =tiges C) BRI d) Soxy)

28 Biodwerssy hot spots are composed of
2 Speces nchness
& Sicheess in endemic species

. Slchmess of biotic and abiotic factors
e Both a) and b)

S 20 3050 e Fotaned : 2R RORS.
a) SgesnE s003

B) F00 T3 0TS Jerrwh

€) o0 98 3 i DT oI

d) a) &= b) 2830

99. Chernobyl disaster is associated with
a) Nuclear accident b) Earthquake
c) Landslides d) All of these
BIRFRO® DTS .00 '
a) TORED TS b) o
€) TROER & d) oege

100. Edaphic factor refers to

a) Soil_ b) Water c) Air d) Temperature
DTT 03NR fadé oo :
a) ey b) m® : C) @oC30 d) SoTERS
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